o
190
®
S

160
190

0 O
0 A
o‘o m‘o h‘o BEPAHOA
8|3 2|2 =K
& & =3
B | [ CNATHS o3
T ™ 10,76 m? SO
" " (i
Y MNPEABEPVE
6¢1. x 17,9/28cm. ;\ ~ 413me T
\ N ~ 0
T” \\An. 1-1 210 \
46,17 m?
N H g g2 u
g|e
istsisiisistisistot | - ik
I pis ‘ |
’
// // KOHTYp KoTa +0,00 \ / An. 1-6 \ 2,80 @y eEE Kopuaop/ ,“ An. 1-2
20, 37.45 m? \ 100 + 5312 m? CrbnbuwHa knetka 100 /40,80 m?
7, /\ ' N : 38,46 m? B /0 4550 m
NPEOBEPVE I'IPEIZlBEF;VIE
5,38 m? 3,64 m’

nWC

75 /
210/ BAHA |
_

KYXHA
BCEKMOHEBHA
16,58 m?

[y

CMANHA
11,16 m?

O s

BCEKUOHEBHA

22,50 m? <l]
)
I

KYXHA
BCEKMAOHEBHA
20,10 m?

, y BEPAHIA
, % 5,14 m?

— - /Q PASNPEOENEHME - KOTA -2,80

3n - 281,47 M.kB.
P3N - 1465,93 m.kB.




